LA A e (PR =T — T

77?;7%1%@
PEEAT N — 5T
20244E6 H 4 H (k)
HH. R A4 v a — A
1| 7:42 =Dk A+EER— {ZEBEL L IN==)
2| 7:51 BelL=— NH @ Kl 2K 55 B
3| 7:59 S = Ee iR EHME dbil 7%
4| 8:08 B 5 = [ EARET BAR—E
5| 8:16 B EEHtD AR HHE— LHHBE /INRIE
6| 8:25 BEE8E E= GIIEIN AR B Z2E B
7| 8:33 71— BARZIR FREEHE (N EWN
8| 8:42 SEHEB A ZMH B 12 58 722 1E BH
9| 8:50 Y= ES BARE— EfE— 2 ==l
B B
JL—)L BARI N ZHESRITINZHAI KL
WEBEL N =77 5Ea— ) — VBT 5,
AT N7 1[F]
ERIV—r BFU—»

AH—POSETETICZA 2T FEE,
1043 BIETIZRAZ —MR—/VETEBEBLWZEEETIOBBEWOWELET,

A2 —hFH BEEGENERILRDBENITSVET,



